BUSCO statistics
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Figure S6: Comparison of dispensability scores of BUSCO and non-BUSCO genes using different references (chlorophyta, embryophyta and brassicales). The
respective means are represented by the blue lines (dashed lines=extended lines of the respective mean). BUSCO genes show significantly lower scores than non-
BUSCO genes for all three reference datasets (Mann-Whitney U test).

Levene's test was used to test for equal variances. The results show that the variances for all reference datasets differs significantly between BUSCO and non-BUSCO
genes. Thus, the deviation of the dispensability score from the respective mean is significantly higher for non-BUSCO genes in comparison to BUSCO genes.
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